SA-I (CLASS-IX) 9/2015
SUBJECT : FRENCH

Time : 3 Hrs. M.M.: 80

General Instructions :

(i

Read all the questions very carefully.

(i) Mark the question as given in the question paper.
(iii) Attempt all the questions.

Q.

SECTION-A (COMPREHENSION ECRITE)
Lisez le texte suivant et répondez aux questions :

Mes grand-parents habitent & londres. Je les visite
chaque année. Mais cetle année, je suis allé trois fois
en Angleterre, et chaque fois, jai utilisé un moyen de
transport différent. La premiére fois, §'y suls alle sans
mes parents et j'ai pris 'avion. Mon billet a cotité plus
cher. Le vol Paris-londres est ass€z rapide, mais il a
fallu arriver a l'aéroport deux heures avant le départ.
L’aéroport se trouve a autre bout de la ville. J* étais
assis a coté d'une fendtre; j'ai vu beaucoup de nuages,
mais presque rien d'autre.

La fois suivante, nous y somies allés en voiture. On
a traversé la Manche en ferry. Cetat plus pratique,
parcequ’ on avait beaucoup de bagages, mais le voyage
a cependant pris trop,de temps 4 mon avis, a cause
des embouteillages autour de Paris. Et puis, j'ai été
malade dans le ferry parceque la mer était agitée!

La derniére fois, on a bénéficié d'une offre spéciale et
j'ai pu m'y rendre en Eurostar (TGV). Le voyage est
trop cher autrement. Il ne dure que trois heures trente
et on arrive directement au centre de londres a
waterloo. Par la fenétre, on peut voir le paysage.

(1)



Ql.

Q2.

Q3.

Q4.

Q5.

Répondez aux questions suivantes :- 2)
() Pourquoiil a été malade dans le ferry?

(i) Pourquoilevoyage en voiture était plus pratique?
Dites Vrai ou Faux :- (3)
() Le billet d’ avion cotite moins cher.

(i) Ilyahbeaucoup d'embouteillages autour de Paris.
(iii) II est allé une fois en Angleterre.

(iv) On a traversé la manche en ferry.

(v) Le vol Paris-Londres est rapide.

(vij Laéroport se trouve au centre ville.

Ecrivez le contraire de ces mots :- 2)

(i) Moins # (i) unpeude#

(iii) Hors de # (iv) Sans#

Complétez avec un mot/des mots du texte : 2)

(i) Elle a mangé de chocolats. (trouve/
malade/trop)

(i) De son bureau, il est allé a l'aéroport.

(directement/rendre/parceque)

(iii) 11 tard a I'école donc, le professeur est
en colére. (arrive/cherche/offre)

(i) Mon pére a acheté une nouvelle
(voiture/bagages/embouteillages)

Trouvez la bonne réponse :- (1)

() Le contraire de <<aller>> est . ([deviens/
venir/acheter)

@) Linfinitif de <<vu>>est . (falloir/voir /
avant)

(2)




SECTION-B (EXPRESSION ECRITE)

Q1. DNécrivez I'image donnée ci-dessous a l'aide des
—

expressions suivantes (30-35 mots) :- (5)

(danseuse indienne/jolie/bijoux/cheveux longs et

noirs /vétements indiens/yeux noirs/grande/ mince)

Q2.

3.

Q4.

Complétez le bulletin météo :- (5)
(vent/soleil/pleut/orages/chaud)
Aujourd'hui en Inde, il fera du (i) . Le matin, il

fera(i) __ maisvers lasoirée il feradu .
avecdes(iv) forts. Peut-étre il (v)____ toute
la soirée.

Vous avez acheté une nouvelle maison et vous
organisez une soir¢e. Invitez votre ami. (30-35 mots).

(5)
Vous avez visité Delhi en vacances d’hiver. Vous
envoyez une carte postale a vos parents a lyon. Rédigez
la carte postale. (30-35 mots). (5)

(3)



Q5. Mettez le dialogue en ordre :- (5)

Bl

2.

Sylvie : Que fais-tu ces jours?
Pauline: Trés bien. Donne-moi ton numér;dc
~ teléphone. Je te téléphonera,
Sylvie : Marie, c'est toi?
Pauline : Au revoir, 4 bientt.
Sylvie : Bien sir, c'est 92.86.42.12.
Pauline : Oui Sylvie. Quelle surprise!
Sylvie : Je suis journaliste,
Pauline : Moi, je travaille chez Infosys. et tof?
Sylvie : Au revoir.
SECTION-C (GRAMMAIRE)
Mettez les verbes aux temps convenables :- (5)
(i) Hier, i (voir) mon acteur favori. (voyait/
ai vu/vois)
(ii) (se dépécher)! Tu es en retard.
(depechez-vous /dépéche-toi /tu te depéche)
(iii) Is (faire) toujours leur travail. (font/
feront/ont fait)
(iv) Demain, nous (etre) chez nous. (étions/
sont/serons)
v) 1 (arriver) dans une minute. (va arriver/
arrivera/arrive)
Complétez ces phrases avec des adjectifs possessifs:-
(5)
()  As-tu déja invite amis pour la sojrée?
(ton/tes/vos)
(i) Elle décore nouvelle maison avee gout.
(sa/son/leur)

(4)




Q3.

Q4.

5.

(i) Marie préte livres 4 Jean. (leurs/mon/
ses)

ﬁv] Nous habitons chez parents. (mes/vos/
nos)

(v) Ilsécrivent a directeur. (leurs/son/ leur)

Complétez ces phrases avec des adjectifs
démonstratifs :- (5)
(i) restaurant est trés connu.

(i) Vérifie . appartement avant I'acheter!
(i) magasins sont trés grands.
(iv)
(v) Joffre fleurs a mes parents.

poisson est frais.

Trouvez les phrases :- (5)

() café/je/du/bois/au/restaurant.

(i) il/le/proméne/chien.

(iii) bon/je/un/vais/roman/acheter.

(iv) poisson/du/manger/nous/ préférons.

(v) Je/au/marché/vais/ma /avec/soeur.,

Complétez ces phrases avec les bonnes prepositions:-
(5)

@)  Laboulangerie se trouve du restaurant.

(pres/devant/sur)

(i) Je vais mon oncle (sous/chez/sur)
ma sceur. (avec/derriére/contre)

(i) Nous avons fait nos devoirs problémes.
(sans/devant/derriére)

(iv) Tu peux aller Marseille. (4/devant/au
dessus)

(5)



dez les adjectifs - (5)

Q6. Accor
() TNaune interview (mportant). ¢

(i Sa boite esl (lourd).
chaussures (blanc)?

(iii) Avez-vous des

joue avee les filles (jeune).

(iv) Ce garcon
v) Le PDG a annonceé la nouvelle (grand).
Q7. Trouvez la question - (5)
@ Je prends le dossiet.
Nous nous couchons a 10 h du soir.

marché parceque {ai voulu des '

(i)
(jii) Je suis alle au
fruits.

(iv) Tlya peuf garcons au jardin.

(v) Sl jesuis libre.
SECTION-D (CULTU'RE

stions -

les francais mangent

ET CIVILISATION)

Q1. Répondez a ces que (10)
G Questce gue au petit
déjeuner?

@ En quelle saison y a

couleur?
ez-yous du Theatre de Guignol?

t4 des fleurs? De quelle

(i) Que sav
(iv) Qulest-ceque <<Aller-Simple>>7
(v) Qulest-ce qu'on faisait autrefois?

(4)

Q2. Dites yrai ou faux:
] Quand quelqu'un
arriver a I'heurc.
gtre poli avec {e professeur:

nous invite 3 une féte, il faut

g 1 faut

(8)




(iii)

< (iv)

Nous devons aimer notre famille.

Il ne faut pas planter les arbres.

@3. Choisissez la bonne réponse :- (4)

@4.

M

(ii)

(iii)

(iv)

A Pondichery, on visite (Notre Dame/

Auroville/les temples azteques)

Un habitant de Londres est (sénégalais/
indien/anglais)
Le pére de ma mére est mon . (pere/

oncle/grand-pére)
Le dimanche, les éléves aiment se lever
(en avance/en retard/ tard)

(v) Aprés le repas, on mange . (l'entrée/le
dessert/la soupe)

(vi) La terre est en hiver. (noire/blanche/
verte)

(vil) La rentrée c’'est _ jour de l'école.
(premiéere/le premier/ dernier)

(vii) Pour envoyer un colis, on va a la
(marché/bureau/poste)

Chassez le mot intrus : (2)

() La moto/la voiture/le vélo/la bicyclette

(i) Bordeaux/Marseille/Paris/Le Sénégal.

(iliy La meére/la cousine/le pere/la fille

(iv) Le dejeuner/le gotter/le petlit déjeuner/les

tartines.

(7)
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SUMMATIVE ASSESSMENT-I (CLASS-IX) 9/2015
SUBJECT : SOCIAL SCIENCE (SET-A)

[

Time : 3 Hrs. M.M.: 90
General Instructions :

1.
20
3.

6.

Ql.
Q2.
Q3.

Q4.

Q5.
Q6.
Q7.
Q8.

Q0.
Q10.
Qll.
Q12.

Q13.

The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial no. 1 to 8 are very short answer type questions.
Each question carries one mark.

Questions from serial no. 9 to 20 are 3 marks questions. Answer of
these questions should not exceed 80 words each.

Questions from serial no. 21 to 28 are 5 marks questions. Answer of
these questions should not exceed 120 words each.

Question number 29 & 30 is a map question of 3 marks from History
and Geography. After completion, attach the map inside your answer
book.

Who were the ‘active citizens’ in France during 1971? (1)
List two neighbouring countries of India in the South. (Ya+Ya=1)
Which organ of the UN is responsible for maintaining peace and security
among countries? (1)

Name the country where General Parvez Musharraf led a military coup in
1999. (1)

Name the first President of the newly born democracy in South Africa? (1)
What are the constituents of modern farming methods? (1)
Explain the term virtuous cycle with reference to education. (1)
Enlist any two steps taken by the Indian government to promote education,

(Ye+te=1)
Discuss the condition of women in France before the French Revolution. (1x3=3)
State any three peculiar features of Nazi thinking. (1x3=3)
Discuss the impact of Great Economic depression on Germany, (1x3=3)

The Central Location of India at the head of the indian Ocean is considered to
be of great significance. Why? (1x3=3)

Mention any three characteristic features of the Himachal range of the
Himalayas. (1x3=3)

(D-1)



Q14. ‘Rivers have been of fundamental importance throughout human history’.

Suggest any three measures to conserve them. 1x3=3)
Q15. Who was elected as the President of Chile in 1970? What steps did he take to
help the poor? (1+2=3)
Q16. Examine any three demerits of democracy. (1x3=3)

Q17.(a) What is constitution?

(b) Explain the ideas of ‘Liberty’ and ‘Fraternity’ mentioned in the Indian
Constitution. (1+2=3)

Q18. Is it important to increase the area under irrigation? Why? (1x3=3)
Q19. How did the spread of electricity help the farmers in village Palampur? (1x3=3)
Q20. Compare and contrast economic and non-economic activities.  (1%2+1%=3)

Q21. Discuss the reasons which led to the rise of French General Napoleon

Bonaparte. (5)

Q22. Write a note on schools under Nazism. (5)
Q23. Differentiate between the Eastern and Western Ghats. (5)
Q24. Mention the chief characteristics of Himalayan rivers. Give any two examples.
; (4+1=H)

Q25. (@) Who was Lech Walesa? What were the demands of the striking workers

under his leadership?

(b) Give the main provisions of the Gdansk agreement. (3+2=5)

Q26. What is Preamble? Explain the terms sovereign, socialist. secular and Republic
mentioned in the Preamble. (1+4=0)

@27. Explain the primary requirements for the production of goods and services.
(5)
028.(a) [Explain the term human resource. Why is it considered to be the most
important resource?

(b) How can a large population be transformed into a productive asset.
Mention any two ways. (3+2=5)

(D-2)



Q29. Three items A, B, C are shown in the given outline map of France. Identify
tF~se items with the help of following information and write their correct names

on the lines marked on the map. (3)
(A) Port city which owed its economic prosperity to the flourishing slave
trade.

(B) Epicenter of the main panic movement during the Great Fear
(C) Capital of France

(D-3)



Q30.( Two features (A) and (B) are shown in the political map of India. Identify
these features with the help of following information and write their

correct names on the lines marked on the map. “(1x3=3)
(A) River
(B) Range

(i) On the same outline political map of India, locate and label the following
item with an appropriate symbol.

(C) Highest peak of Peninsular India

- "y»--“\ﬁ"-' = P * -a» e e -
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SUMMATIVE ASSESSMENT-1 (CLASS-IX) 9/2015
SUBJECT : MATHEMATICS (SET-B)

Time : 3 Hrs. | M.M.: 90

General Instructions :

1.
2.

Q1.
Q2.
Q3.
Q4.
Q5.
Q6.

Q7.
- Q8.

All questions are compulsory.

The question paper consists of 31 questions divided into four sections
A, B, C and D. Section-A comprises of 4 questions of 1 mark each;
Section-B comprises of 6 questions of 2 marks each; Section-C comprises
of 10 questioﬁs of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.

There is no overall choice.

Use of calculator is not permitted.

SECTION-A
State whether (7 =J5 ) (7 +/5 ) is rational or irrational. f
On which axis (4, 0) will lie? 1
In the given figure, find the value of x . s
100 1%
¢ ~
< B o 7
Write the coefficient of x in the polynomial 2.* - 11x + 6.
SECTION-B
o a1 E g
Visualise 3.164 on the number line, using ) S ¢
successive magnification.
In the given figure, if AB || CD, EF L CD ;
and ZGED = 126°, find ZAGE, ZGEF and <z . =

£FGE.

Find the value of K, if (x - 1) is a factor of 4 + 3x* - 4x + K.
In the given figure, if AC = BD, then prove that AB = CD.

b




Q9.

Q10.

Q11.

Ql2.
Q1la.

Q14.

Q15.

Q16.
Q17.

Ql8.

Find the area of a triangle whose two sides T4
are 6m and 8m and the perimeter is 24m.
With the help of the given graph,
answer the following Questions -

() Name the point whose X &—p——. S
coordinates are (2, 3) e b..,l s,
(b) Write the ordinate of point R. Ar e
SECTION-C el £

Express 2 16 in the form % where 'p’ and ‘q’ are integers and g # 0.

Without actually calculating the cubes, find the value of (12)° + -5)* + (-7)°
Prove that “If two lines intersect each other, then the vertically opposite angles
are equal”,

: 64 1 J25
Simp]’fy:(lzs) T ras6Y  (64)"
(625)

In the given figure, PR > PQ and PS bisects ZQPR.

Prove that ZPSR > ZPSQ. tﬂ g —
Expand (2a - 4b + ¢)?, using suitable identity. R
Sanya has a piece of land which is in the shape of a A 4
rhombus. She wants her one daughter and one son to &

work on the land and produce different crops. She divided

the land in two equal parts. If the perimeter of the land

is 400m and one of the diagonals is 160m, how much _

area each of them will get for their crops? p ot

In the given figure, ray OS stands on a line POQ. Ray OR and ray OT are angle
bisectors of ZPOS and #50Q respectively. Find ZROT.




@19. Plot the points A (2, 3), B (-2, 3), C (-2, -3) and & °
D (2, -3) on a graph. Join these points and name
the figure obtained.
Q20. In the given figure, OA = OB and OD = OC. Show
that (i) AAOD = ABOC (ii) AD || BC.
SECTION-D v
Q21. Rationalise the denominator and find the values of ‘a’ and ‘b’.

—g{% =a+b/15
Q22.(a) Find the remainder when the polynomial f(x) = 2x* - 6x° + 2% - 11 is
divided by (x + 2). (use remainder theorem)
(b) Factorise : X* - 3x-28
Q23. In the given figure, OP, 0Q, OR and OS are four rays.
Prove that ZPOQ + ZQOR + ZSOR + ZPOS = 360°.

Q24. Prove that two triangles are congruent if two angles and the included side of
one triangle are equal to two angles and the included side of the other triangle.

Q25.(a) Represent /6.2 on the number line.

1 3
(b) Find two irrational numbers between § and -2-

Q26. AABC and ADBC are two isosceles triangles on the same base BC and vertices
A and D are on the same side of BC. If AD,is extended to intersect BC at P,
show that (a) AABD = AACD (b) AABP = AACP. :

A
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Q27. Factorise : X* — 6x* + 3x + 10 using factor theorem.
Q28. Line l is the bisector of an angle ZA and B is any
point on L. BP and BQ are perpendiculars from B
to the arms of ZA. Show that (a) AAPB = AAQB
(b) BP = BQ
Q29. (a) Evaluate (1002)® using suitable identity. A
(b) Factorise : 125a° + 8b®
Q30. (i) BE and CF are two equal altitudes of a triangle ABC. Prove that
(a) ABFC =ACEB
(b) BF=CE
(c) AABC is isosceles

(13 c

() Ajay’s partner was using incorrect congruence rule AAA for proving the
congruence of triangles. Ajay guided him and explained the correct
congruence rule ASA. Which value of Ajay is being depicted here?

Q@31. The polynomials ax’ - 3 + 4 and 3x’ - 5x + a when divided by (x-2) leave the

remainders R, and R, respectively. If R, = R,, find the value of a.
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SUMMATIVE ASSESSMENT-1 (CLASS-IX) 9/2015
SUBJECT : ENGLISH (SET-B)

Time : 3 Hrs. M.M.: 70
General Instructions :

1.

#

Ql.

The question paper is divided into three sections.

Section-A : Reading 20 marks
Section-B : Writing and Grammar 25 marks
Section-C : Literature 25 marks

All questions are compulsory.
You may attempt any section at a time.
All questions of that particular section must be attempted in correct
order.

~ SECTION-A (READING : 20 MARKS)
Read the following passage carefully : 8)
Flattery is an art, and like every art, it can be mastered by only those who
have not only an inborn talent for it but are also willing to put in unceasing

and patient labour. A master of this art is always subtle and suggestive. At
the same time he takes care that the praise given by him has some basis in

‘reality. He will not call a dark complexioned woman fair. He will say that

black is beautiful. If she is thin and lean, he will tell her that slimness makes
for real beauty. If she is fat, he will remark that a woman who is not buxom
can by no means be called beautiful.

The range of tactics and ploys used by flatterers for the achievement of their
goals is amazingly wide. Words are, of course, the sharpest weapons in their
armory, but they can also make a dexterous use of gesture, movement and
action. If a stenographer is keen to flatter his boss, he goes into raptures over
every sentence dictated by him. His eyes shine; his face aglow; his lips are
half open with amazement; his head sways in admiration. In short, he becomes
the very picture of wondering reverence.

A true master of the art of flattery can malke flattery look like genuine praise.
His arrows never miss their target. He can ingratiate himself into the favour of

‘the sternest of bosses and the coldest of women.

Not everybody. can excel at flattery. Like any other art, flattery also requires
certain basic qualities. A glib operator with tremendous reserves of patience

(D-1)



Q2.

and ability to dissemble is sure to be a successful flatterer. You may try to
avoid him; you may snub him; you may hurl insults at him. But the
perseverance will not leave him. By remaining polite even in the face of grave
provocation, he succeeds in breaking resistance. He tries to oblige to be close
to you. He feigns love for your hobbies and interests. He never misses an
opportunity to shower praise on your new acquisitions. Not a single attribute
of yours is left upraised by him. |

1.1 On the basis of your reading of the above passage, complete the followi
statements ! _ (1x8=8)

(a) The art of flattery can be mastered by :
(b) Inflattery, the praise given by a person should have ;
() Some weapons used by flatterers arc

(d) A stenographer becomes to flatter his boss.

(e) Atrue master of this art is on¢ who ___

@ A successful flatterer operates with

(@0 Tobe successful in breaking resistance, he should ;

(h) A flatterer will never leave an opportunity to :
Read the following passage carefully. (12)

CHANGE is often met with suspicion, and the rapidly raging SMS culture is
no exception. As the world and its children went ‘mobile’, the cell phone’s
most loved feature - Short Message Service (SMS) - became the handiest tool
of communication.

Besides convenient templates like T11 be late’, Tm busy right now’, and even
‘Tm sorry’ SMS is now used to convey all kinds of emotions, jokes, SOS alerts,
news and entertainment information. The languages, which converted ‘too’ to
‘2, ‘you are ' L0 ur' and ‘take care’ t0 ‘t¢’, among the million other sms' isms,
may well have begun to save space and cost. However, the conundrum of
figuring out newly coined short forms caught on with such fervour that despite
the rapidly declining rates offered by phone companies, the trend countinues.
Students and young professionals often employ this ‘hall baked’ language to
almost all aspects of their lives. “Five out of 10 resumes [ see are peppered
with SMS languages”. reveals an HR executive adding, “Beside coming across
as highly unprofessional, these CVs are instantly rejected, even though the
qualifications may be up to the mark”.
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Qs.

Q4.

SMS lingo has also invaded the usually meticulous examination system, with
students of all classes almost subconsciously using short forms in their answer
papers. “We have made it a policy to cut half a mark per short form in class
and unit tests. Children have failed, but the trend continues”, laments an
English teacher at a suburban school. _

Sitting firmly on the other side of the fence, a ournalist asserts, “That English
is a funny language is the biggest cliche of all, but to lambast the rules of
spelling in the manner that SMS does, is immature and despicable. We already
have more forms of English than we can account for. Here we are trying to
confer a common language on the globalising world in order to get all people
to speak an understandable variety of the same basic language. And instead,
we have to waste time and energy convincing people that further fragmentation
of words, would be taking a long step back, and not forward.”

2.1 Answer the following questions briefly : (2x4=8)
(@) Which is the most loved feature of cell phones? Give its two
advantages.

(b) Why are resumes of qualified people rejected sometimes?

(©) How has SMS lingo adversely affected students’ marks? Does it
_ have any effect on the children?

(d) What is the problem of SMS lingo mentioned by the journalist in

this passage?
2.2 Find words from the passage which mean the same as the following :
(1x4=4)
(@) doubt (para 1) " (b) tocomplain or grieve (para 4)

() worthless or paltry (para 5) (d). intensity (para 2)

SECTION-B (WRITING AND GRAMMAR ; 25 MARKS)
Using ideas fro the MCB unit - ‘People’ and your own ideas, write an article on

the topic ‘An Ideal Leader’ in about 100-120 words. (B)
Develop a story in about 150-200 words with the following beginning. Also
give a suitable title. - (10)

Swati's mother was expecting some guests in the evening. She was very excited
and was cooking mouth-watering dishes. Suddenly she heard a loud noise
and
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Q5.

Q6.

Q7.

Q8.

Complete the following passage by choosing the most appropriate options
from the ones given below : (1x3=3)
The city police (a) decided to (b) stern action against drivers
() attempt to overtake from the left. All drivers who violate this rule
will be punished.

(@ @ had (i) has (iii) have (iv) is
(b) (@) take (i) taking (i) took (iv) taken
(0 (@[ whose (i) who (iii) which (iv) those

The following passage has not been edited. There is one error in each line.
Write the incorrect and the correct word in your answer sheet against the
appropriate blank number : (1x4=4)

Incorrect word Correct word
Man’s efficiency increase by hard work. (a)
Continuous efforts are require to achieve (b)
success. The lawyer is judged with the cases (c)
that he wins. The writer’s capability are (d)

examined by opinion of the readers.

Arrange the following words and phrases to form meaningful sentences :
(1x3=3)

'(a] planned/picnic/we/to go/family/a/on

(b) reached/adventure island/we/a/by/bus/private
(c) the/dangerous/we/rides/enjoyed/all
SECTION-C (LITERATURE : 25 MARKS)
Answer any one of the two extracts given below : (1x3=3)

“I listen'd, motionless and still
And, as I mounted up the hill,
The Music in my heart I bore,
long after it was heard no more.”

(a) What is the effect of the reaper's song on the poet?
(b) What does the poet do as he mounts up the hill?
(©) What do you mean by ‘mounted up the hill'?

OR
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“It's not for us ... It's for your parents. You are simply trying to make me buy
a vilia so that you can put your father and your mother in it.”

(@ Who is the speaker of the above lines?
(b) Why, according to the speaker, did the listener want a villa?
() What was the speaker’s reaction to jt?

Q9. Answer the following questions in about 30-40 words : (2x4=8)
(@)  What proposal does the maid make to J uliette about working in a film?
(b)  Which road does the poet reject in the poem ‘The Road Not Taken’ and

(€ What happened on October 12, 1957 in the lesson ‘A Dog Named Duke'?
(d) What tells you that the grandmother was a highly determined woman?
210. Answer any one of the following questions in 80-100 words - 4)

-The brook is unstoppable in its Journey inspite of many hurdles. Human
beings too come across various difficulties in the course of their life, With
reference to the poem ‘The Brook’, comment upon the values or lessons that
we learn from the poem.

ng Reading Text
1. Answer any one of the following questions in about 150-200 words : (10)
Harris’s experience in the maze is humorous. Explain,
OR
Draw a pen portrait of George on the basis of the contents of the novel.
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SUMMATIVE ASSESSMENT-1 (CLASS-IX) 9/2015
SUBJECT : SCIENCE (SET-B)

Time : 3 Hrs. M.M.: 90

General Instructions !

1.

6.

7

9,

Q1.

Q2.

Q3.
Q4.
Q5.

The question paper comprises of two Sections, A and B. You are (o attempt
both the sections.

All questions are compulsory.

All questions of Section-A and all questions of Section-B are to be
attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions. These are
to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section-A are two marks questions, These
are to be answered in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These
are to be answered in about 50 words each.

Question numbers 19 to 24 in Section-A are five marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions
based on practical skills. Each question is a one mark guestion. You
are to select one most appropriate response out of the four provided to
you.

Question numbers 34 to 36 in Section-B are questions based on practical
skills and are two marks questions.

SECTION-A

An inflated air balloon collapses when pricked with a pin. Which property of
the gaseous state is shown by this?

A passenger jumping on a platform from a running train falls with his head in
the forward direction. Why?

Plasma membrane is known as selectively permeable membrane. Justify.
State universal law of gravitation. Also write its mathematical expression.

(a) Name a metal and a non-metal which are liquid at room temperature.
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Q6.

Q7.

Q8.

Q9.

Q10.

Qll.

Q12.
Q183.

@14.

Q15.

.
(b) Mention the dispersed phase and dispersing medium in shaving cream.

Differentiate between prokaryotic and eukaryotic cell on the basis of =
(a) cell size (b) nuclear region

(@) A solution is prepared by dissolving 50¢g of glucose in 400¢ of water.
Calculate the concentration of the solution in terms of mass by mass
percentage.

(b) Identify the homogeneous mixtures from the following -

salt solution, blood, milk, vinegar
(a) Differentiate between an element and a compound. (Any two points)
(b) Burning of candle is both physical and chemical change. Give reason.
(a) Convert 393°C into Kelvin scale.
(b)) A gas exerts pressure on the walls of the container. Why?

A car accelerates uniformly from 18 km/h to 36 km/h in 5s. Calculate (i) the
acceleration and (b) the distance covered.

A body of mass 10kg is moving with a velocity of 5 m/s. A force is applied on
it so that in 20 seconds it attains a velocity of 30 m/s. Calculate the value of
the force applied.

Derive third equation of motion graphically (v? - u® = 2as)

The car A of mass 1500 kg travelling at 25 m/s collides with another car B of
mass 1000 kg travelling at 15 m/s in the same direction. After the collision
the velocity of car A becomes 20 m/s. Calculate the velocity of car B after the
collision.

[a]' State any two differences between mass and weight.
(L) Mass of an object is 10 kg, what is its weight on earth?
(Given, acceleration due to gravily on earth = 10 m/s?)

Draw a neat diagram of a section of complex permanent tissue which transports

~ food to all parts of plant and label the following parts -

(a) Sieve plate (b) Sieve tube
(©) Phloem parenchyma (d) Companion cell

Q16.(a) Name the kind of tissue

@ in the lining of kidney tubules and ducts of salivary glands
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¢ (b)

(i) fat storing tissue below the skin and between internal organs.

Write any two characteristic features of striated muscles.

@17. ‘M’ is the cell organelle which is known as the “Kitchen of the cell”. Identify ‘M’
and explain its two types.

Q18. Ram, a farmer by profession along with his friend Raj went to a fertiliser shop
to enquire about the various nitrogenous fertilisers available in the market.
Raj suggests Ram that he should not use the nitrogenous fertilisers for growing
crops as this will cause environmental degradation.

(a)

(b)
Q19. (a)
(b)
()
Q20. (a)
(b)

Q21. (a)

(b)

Q22. (a)
(b)

How does the excessive use of fertilisers cause environmental
degradation?

What values have been shown by Raj in the above situation?
What are weeds? Give an example.

Why should weeds be removed from the cultivated fields?
List any two methods that help in weed control.

How does evaporation cause cooling?

Give reasons for the following -

() We are able to sip hot tea or milk faster from a saucer rather than
a cup.

(i) Liquids generally have lower density as compared to solids. But it
is observed that ice floats on water.

(iii) Steam produces more severe burns than boiling water.
Name the processes involved in :

() separating various dyes present in black ink.

(i diagnostic laboratories for blood and urine test.

You are given a mixture of acetone and water. How will you separate the
two components? Draw a neat labelled diagram to support your answer,

Derive the mathematical formulation of Newton's second law of motion.

Explain why a runner presses the ground with his foot before he starts
his run.
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Q23. The graph given below shows how the speed of a car changes with time
(a) What is the initial speed of the car?
(b) What is the maximum speed attained by the car?

o

(©) Which part of the graph shows zero acceleration?
(d) Which part of the graph shows retardation?
() Find the distance travelled in first 8 hours.
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Q24.(a) Explain composite fish culture system along with an example.
(b) State one merit and one demerit of such a system.
SECTION-B

@25. What type of chemical reaction takes place when iron is added to an aqueous
solution of copper sulphate?

(a) Double displacement reaction
(b) Combination reaction

(¢) Displacement reaction

(d) Thermal decomposition reaction

(26. In an experiment to separate various components of a mixture of common
salt. ammonium chloride and sand, a student adopts a process of dissolution
of the mixture components in water. Name the component(s) of the mixture
which is soluble in water -
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Q27.

Q28.

Q29.

Q30.

Q@31.

(a) both common salt and ammonium chloride
(b) both ammonium chloride and sand

(¢) only sand

(d both common salt and sand

A student set up an apparatus for finding the melting point of ice. When half
of the ice melted, the temperature shown by thermometer is -

(@ more than 0°C (b) less than 0°C
© 0°C (@ 100°C

Which of the following is not stable when allowed to stand undisturbed for
sometime?

(@) Blood (b) solution of egg albumin in water
(¢) muddy water (d) copper sulphate solutien

A student by mistake heated a mixture of iron filings and sulphur. He now
wanted to separate the two components. Sohe added a little amount of carbon
disulphide to them. He observed that -

(a) sulphur dissolve in C3, (b) irﬂfl dissolves in C5,
(¢) sulphur and iron get decomposed (d) no change occurs

Teacher asked Ela and Lily to add a few drops of iodine solution to each of the
following cups to test the presence of starch.

Cup A - Baking powder Cup B - Wheat powder
Cup C - Salt Cup D - Rice powder
In which cups the content did not turn blue-black.

(a) BandC (b) AandC

() AandB (d BandD

Lalita used crushed pulp of onion, Latha used dry scale leaf of onion, Maya
used green leaf of onion and Saumya used thin layer of fleshy leaf of onion. As
o science student who used the correct material for making a temporary mount
of onion peel.

(a) Lalita - crushed pulp of onion
(b) Maya - green leafy onion
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() Saumya - thin layer of fleshy leaf of onion
(d) Latha - dry scale leaf of onion 5

@32. After studying a permanent slide of a tissue, Sushma identified it as

Q33.

Q34.

Q35.

Q36.

sclerenchyma, as it had :

(@) Thin cell walls, no nucleus and intercellular spaces

(b) Thin cell walls, a nucleus and intercellular spaces

() Thick cell walls, a nucleus and intercellular spaces

(d) Thick cell walls, no nucleus and no intercellular spaces

The students were shown the slide of a nerve cell. They were asked to draw
the diagram of the nerve cell. The correct sequence of the labelling 1. 2, 3, and
4is -

(a) Cilia, Nucleus, Dendrite, Cyton

(b) Axon, Nissl's granule, Dendrite, Cytoplasm
(c) Dendrite, Cyton, Nucleus, Axon

(d) Axon, Cytoplasm, Dendrite, Nucleus

An experiment was set up to determine the percentage of water absorbed by
raisins. If the mass of dry raisins was 40g, and the mass of wet raisins was
50g. Calculate the percentage of water absorbed by the raisins.

What is limiting friction? How does the minimum force required to move the
rectangular block depend on the surface of the block and table?

On reaction of zinc granules with dilute sulphuric acid, name the gas released.
Also write a chemical test for the gas released,

(D-6)



